EREEEEHH

REMAFER: SEETE
A E KIEG BEE=5KE
B B HAE 48 58 6H 78 8H 9/ 108 118 128 18 2R 38

B (°c) 15.2 21.8 22.0 27.6 31.0 28.1 27.7 17.8 14.4 6.8 5.7 1.3

KR () 12.8 18.3 21.2 228 25.3 24.3 226 17.2 15.6 98 9.3 12.0

RBIER (mg/L) 0.9 0.7 0.6 0.4 0.7 0.7 0.8 0.7 0.8 0.7 0.7 0.6
i |[—HEHEE 100fE/mLIL T 0 0 0 0 0 0 0 0 0 0 0 0
#2 | KIBE BHEINGWNIE (=33 =33 =3k =33 =33 =33 =33 =33 =3k =33 =3k =33
H3 [AFEVLRUZDIEEY 0.003mg/LEL T <0.0003 — — <0.0003 — — <0.0003 — — <0.0003 — —
4 [KBRUZDIEEY 0.0005mg/LLL T <0.0005 — — <0.0005 — — <0.0005 — — <0.0005 — —
5 [ELURUZDIEED 0.01mg/LIATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
He [SARUZDILED 0.01mg/LIATF <0.001 — — <0.001 — — <0.001 — — <0.001 — —
£ |ERRUZDIEED 0.01mg/LIAT 0.001 — — 0.001 — — <0.001 — — 0.002 — —
Hg |KfTyALiLE 0.05mg/LIATF <0.005 — — <0.005 — — <0.005 — — <0.005 — —
Ho |EHBEER 0.04mg/LELF <0.004 - = <0.004 - = <0.004 — — <0.004 — —
H10 [T A AU RUBEES T 0.01mg/LLLTF <0.001 = = <0.001 = = <0.001 — — <0.001 — —
H |EBREERRVEBBEER 10mg/LIATF 2.0 — — 1.2 = = 1.7 — — 23 — —
H12 [IVRRUVZDOILEY 0.8mg/LUTF 0.13 — — 0.12 — — 0.14 = = 0.14 = =
H13 [RORRUVZOILEY 1.0mg/LELT <0.1 — — <0.1 — — <0.1 — — <0.1 — —
H14 (EIEERER 0.002mg/LELT <0.0002 — — <0.0002 — — <0.0002 — — <0.0002 - -
15 [14-SAFH> 0.05mg/LEATF <0.005 — — <0.005 — — <0.005 — — <0.005 — -
16 :;;71_21_2’_7/'3%31";&0 0.04mg/LLLTF <0.002 - - <0.002 - - <0.002 - - <0.002 - -
17 [ynoray 0.02mg/LLLF <0.001 - — <0.001 - = <0.001 - = <0.001 = =
18 [ThIYOOIFLY 0.01mg/LLLF <0.001 — — <0.001 — = <0.001 = - <0.001 = -
19 [FUYOOIFLY 0.01mg/LLLF <0.001 — — <0.001 — = <0.001 - = <0.001 = =
o0 (RoEY 0.01mg/LLLF <0.001 — — <0.001 — - <0.001 = = <0.001 = =
Ho1 |IEHRE 0.6mg/LELT 0.07 — — 0.20 — — 0.17 = = 0.09 = =
H2o |VOOEER 0.02mg/LLLF <0.002 = — <0.002 — - <0.002 - - <0.002 - -
#23 [yBAKRILL 0.06mg/LLLF 0.010 — — 0.026 — — 0.009 — — 0.007 — —
#Ho4 (DHUDOEFEE 0.03mg/LLLTF 0.006 — — 0.005 — — 0.004 = = 0.004 = =
o5 [CTnE/OOARY 0.1mg/LULTF 0.009 = — 0.007 — — 0.010 — — 0.009 — —
Hop [RHREE 0.01mg/LAT <0.001 — = <0.001 = - <0.001 = - <0.001 = =
H27 [#BRUNOAEY 0.1mg/LELF 0.032 = = 0.048 — — 0.033 — — 0.027 — —
#og |F)YDOOEEE 0.03mg/LLL T 0.009 — — 0.017 — — 0.007 = = 0.006 = =
Ho9 |TOED/OOALY 0.03mg/LLLF 0.012 = = 0.014 — — 0.012 — — 0.009 — —
#30 [FTRERILL 0.09mg/LELF 0.001 — — 0.001 — — 0.002 — — 0.002 — —
31 [RILLTILTER 0.08mg/LLLF 0.008 — — <0.008 — — <0.008 — — <0.008 — —
H32 |ESRRUZDIEED 1.0mg/LELT <0.01 — — <0.01 — — <0.01 — — <0.01 — —
H33 |[FILE =V LRUVZDIEEY 0.2mg/LULTF 0.02 — — 0.03 — — 0.03 — — 0.02 — —
H34 (HRUVZDIEED 0.3mg/LULTF <0.03 — — <0.03 — — <0.03 — — <0.03 — -
£#35 |SARVZDILEY 1.0mg/LEATF <0.01 — — <0.01 — — <0.01 — — <0.01 — —
#36 | TPV LRUZDIEEY 200mg/LELTF 23 — — 17 — — 18 - = 25 = =
37 [RUHVRUZDIEEY 0.05mg/LIATF <0.005 — — <0.005 — — <0.005 — — <0.005 — —
38 &4 200mg/LLLTF 414 25.3 30.6 29.1 33.7 39.8 29.1 31.1 45.4 417 475 442
H39 [hyh 5 2L %E (FEE) 300mg/LLATF 84 — — 61 — — 76 - = 89 = -
Ha0 |REZEEYD 500mg/LEA T 218 — - 159 = = 176 — — 225 — —
Hat (B4 REFEEH 0.2mg/LULTF <0.02 = = <0.02 = = <0.02 — — <0.02 — —
Ha42 [PxARIY 0.00001mg/LELTF — — <0.000001 0.000001 <0.000001 <0.000001 — — — — — —
HA3 (2-AFAK WRE-I 0.00001mg/LL T — — <0.000001 0.000001 0.000001 <0.000001 — — — — — —
Haa (A4 REFMEH 0.02mg/LLLTF <0.005 — — <0.005 — - <0.005 - - <0.005 - -
a5 (Jx/—ILEE 0.005mg/LEATF <0.0005 — — <0.0005 - - <0.0005 - — <0.0005 - =
Hap [BAHM(2ARRRTOCNE) 3mg/LLLTF 1.0 0.6 0.8 1.0 1.0 0.9 0.7 0.7 0.9 0.9 1.0 1.1
£47 |pHIE 580 E8.6LLT 7.4 75 75 7.4 75 75 7.4 75 74 74 74 75
a8 |k BERETHNIL BETEAL| BETEAV| BRETEAV| BETEA0| BEcran| Bcaan Bxcaan|] Bxcaan| Bxcran| BRcran| BRcran| 2Rl
Ha9 [BR BEETRINIE BETEAL| BETEAV| BETEAV| BETEAV|] BEcEdan| Bcran| Bxcaan] Bxcaan| Bxcran| BRcran|] BRcran|] BERcdan
Hs50 |BE S5ELT <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05 <05
51 [ BE 2ELUT <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1 <0.1
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